EUDS

[ PASION POR EDUCAR |

Nombre de alumno: Itzel Abigail Tlamani Lopez

Nombre del profesor : Georgina Olivia Vidal
Nombre del trabajo : unidad 3
Materia : Inglés

Grade: 1 Cuatrimestre

Group: Administracidn y estrategia de

Nnegocios









4.- Present continuous affirmative and negative ¢ \,»5(*

I’'m not , Conjunctions
You’re not If's snowing,
She’s not She isn’t wearing boots. and it's windy.

We're not  We aren’t IY's sunny,
They’re not  They aren’t but it's cold.

It isn’t raining. o sw;n:’rvory cold

2 Present continuous statements; conjunctions

P The present continuous is the present of be + verb + -ing: It’s raining.
She's wearing shoes.

P The two negative contractions mean the same: He's not/He isn’t wearing a
coat. We're not/We aren’t wearing gloves.

Change the affirmative sentences to negative sentences. Change the negative
sentences to affirmative sentences.

1. Mr.and Mrs. Lee are wearing hats. Mr.and Mra. L.e¢ arent wearing hate....

2. Itisn'training. At 5. Y.aun)lhg...

3. I'm wearing sunglasses. .. 45400 huk n)c.,{).x V“’) 395\ 3\«:\55%“:_5

4, You're wearing a new suit. . J}b wlke. . oak.. m.e..(.’.!A.K.!..‘IQ..SL...ﬂ....kn.e‘lu...ﬁ..ul"
5. Michiko isn't wearing gloves. .ms.mh...l(a.......),m,.. :.L,y.£.Q.x..i..h..s}._.ﬁ..1..;;>.:~:£§.........



me sentences. Then compare with a partner.

My name is Claire. | .M. wearing..... a green It's very hot today. Toshi and Noriko
suit today. | m.nat. AL Ihigh heels, too. asebe fresiis Lshorts and T-shirts. It's really
It's raining, but | 'mweaXing.... araincoat. sunny, so they .. i (wearibd sunglasses.

HF 4. 10.€9 ¥ 109 a suit today - he It's cold today, but Kathy Ekimai.u:._z:
5 ol nleA01.29 pants and a jacket. coat. She 4 LucAx ). gloves and ahal.
He 15.w.t4-54.2-9 a light blue shirt, but She 1f.10ak hcAl ts. She s

he A ack /5 P tie. T


















Mhat season ish?Howf_s_memﬂlu?mtwomtmesMMpktm

It's very cold. S \a\nxj
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(skirt)

(dress)
L AVIYC c o (sneakers)
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